SPNCE:
THE FINNAL FRONTIER

Words such as “final”, “end”, “ultimate”, “concluded” in the
text are clues to take the last letter of each answer.

This month, Puzzled Pint looks at some people, programs, and probes
which have been important to space exploration so far. In the end, we
hope to offer a glimpse of the eventual destination of our species.

Company headed by Richard Branson; its ultimate goal is to provide sub-
orbital spaceflights to the paying public. Virgin Galactic C

Space probe which concluded its mission by plunging into Jupiter’s
atmosphere on September 21, 2003.  Galileo O

Lander whose final resting place is on the surface of Saturn’s moon Titan.

Huygens S
Astronaut whose life was tragically ended alongside Edward White and
Roger Chaffee in the Apollo 1 launch pad fire on January 27, 1967.

Gus Grissom M
Program whose final mission was crewed by Eugene Cernan, Ronald
Evans, and Harrison Schmitt.

Apollo O
Space probe which had among its secondary objectives, according to
Wikipedia, “Map the terminators of Pluto and Charon with high

resolution.” .
New Horizons S

COSMOS

© 2019 CC BY-NC-SA Intl. 4.0 by Tracy Cobbs (Huntsville, AL)



geely

MESSNGE FROM ORBIT

——X.X.eoeXeoeoeX.-X-=—.X.XX..-.X.- . X-—--X--XX---X.-.X-...X..X-X
5447 47 46588 418185653546 18274286

x—"AThis encodes the title “Message from Orbit” into Morse, with an “x” separating each Morse letter, and “xx”
separating each word. Each of the 9 2-symbol combinations of dot, dash and x is represented by a digit from 1 to 9.
9 is determined by process of elimination (the only remaining pattern is X—)

From Wikipedia: “Sputnik 1 was the first artificial Earth satellite. The Soviet Union launched it
into an elliptical low Earth orbit on 4 October 1957. It was a 58 c¢cm (23 in) diameter polished
metal sphere, with four external radio antennae to broadcast radio pulses. It was visible all
around the Earth and its radio pulses were detectable. This surprise success... triggered the
Space Race... The launch ushered in new political, military, technological, and scientific
developments.”

1= " s = X 7 =

2= _ —. 5= — — 8 = X
XX —X

3 = 6 = 9 = _X—

The following message has been received from orbit. American scientists are dashing to figure
out the method of encoding. They need to know by 7:00 PM on the dot. Can you help them
decipher it?

25954142319878168
==X =X AXT XK S X XL X - XX
Y O U R A N S W E
18487897888 1248229 2
- X X X . X X- X X X .= = X..X - X- -
R | S B E E P I N G
BEEPING
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UNMANNED !

The Apollo 4 mission, conducted on November
9, 1967, was the first unmanned test flight of the
Saturn V launch vehicle.
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Construct a gantry from the words below and
examine it to discover the part of the Saturn V
that would be manned in future missions.
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EMANCIPATION
ROOM AND BOARD

COommAND MODULE
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HIDDEN FIGURES

Katherine Johnson, one of the women whose work for NASA was portrayed in the 2016 film Hidden
Figures, played a crucial role in calculating the trajectories for many manned missions.

According to Wikipedia, “When NASA used electronic computers for the first time to calculate John
Glenn's orbit around Earth, officials called on Johnson to verify the computer's numbers; Glenn had
asked for her specifically and had refused to fly unless Johnson verified the calculations.” In one
interview, Johnson said of that incident: “He knew that | was the only woman that worked on it. He
said, if she comes up with the same answer that they have, then the computer's right. It took me a day
and a half to compute what the computer had given them. Turned out to be the exact numbers that
they had.”

To honor her work, we present the “hidden figures” in these cryptarithms. Every digit in these
division problems ( https://en.wikipedia.org/wiki/Long_division ) is represented by a letter, and the
same letter represents the same digit everywhere it occurs.

Record the letter representing each digit in order from 0 to 9 to reveal a two-word phrase. Then use
the letter-digit correspondences to calculate the value of the equation below. Expressing that value
using the same letter-digit key will yield your final answer.

ERUP o
8965 5
MY|0UTPUT CORRECT | MERCURY
41367567 2390827 4892691
-OCE —MTRRUPM
%iBP 4799654
ROBOT
395 93037
-OUR
369
U0 BY . OMPUTER
266 TTTITIT e TS
—-CMU
246
CBT (51 x CUBE) + (17 x ROOT) - YUM =
207
-CBP RYPT
508 CRYPTO
C (51 X 2608) + (17 X 9337) - 164 =
) 133,008 + 158,729 - 164 = 291,573 = CRYPTO
00101
00110
00000 ©2019 CC BY-NC-SA Intl. 4.0 by Tracy Cobbs (Huntsville, AL)
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SMANLL STEPS

In July 1969 - 50 years ago this month - Apollo 11 landed on the moon. After descending
from the Lunar Excursion Module to the lunar surface, Neil Armstrong spoke the historic
words, “That’s one small step for [a] man, one giant leap for mankind.”

Tonight you too will be turning a SMALL STEP into a GIANT LEAP. Change one letter at each
step of your descent (never the same position twice in a row).

SMALL
S AL L-
Jack andthe bean____ STA LK
STANK
QTINK
Move in a sinuous, provocative manner S]LINK
BLINKL
Filinthe __ BLEAINK
BLAY
Mark with a hot iron @K&L}
GRAUD
GRANT

GIANT

STEP

\SEE E To ooze or leak
bBEY
@Eﬁ& Pilsner, lager or stout

BEAR_

L 2 & K Father of Regan, Cordelia &
Goneril
LEAP

How does an astronaut get to the surface of the moon?

TAKES LADDER
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META: LAUNCH WWINDOWS

And so our review of the Space Age arrives at the present day, in which SpaceX is hard at
work on developing reusable launch systems.

Each of your four answers represents a reusable rocket. Three series of launches have been
scheduled for this group of rockets. During each group of launches, each rocket is launched
at the time of day indicated, and travels upward at the rate of one square per minute. There
is also an aerial drone, already airborne, which begins traveling eastward at the indicated
time at the rate of one square per minute. At the moment that the drone and the rocket
occupy the same volume of space (don’t worry, they don’t actually crash into each other, as
much as they might appear to do sol!), the drone will “gather telemetry” about the rocket and
transmit that info.

When each rocket has been launched three times and all the telemetry has been analyzed,
you will have created a.... SPACE PROGRAM

1916 -EIEI..wzo 0103 .EEEEMW 0524 .EEEE

The first letter is 1916 i 1919 0103; S {0106 0524} § i
‘S’ because that 1915 |

11918 0102; _j0105 0523,__

i 1917 0101:

rocket starts at 1914 |, 107 1o Jotos o522, N
1903, and we 1913 i 1916 0100§rm_ _j0103 0521 ]
have to find the 1912 | {1915 0059 ;0102 0520;
letter that will be 1911 i i i it 00ss; | oo osto} i i i
in the top square 1910 |} i i 1913 0057; i _iot00 0518, o
at the same time 1909 [_ii iJCi ;1912 0056; ..; |.SJooso 0517; I
as the drone 1908 E_i i 1911 0055?_ ______ 5_5 i 0058 0516;__ _ i
(1917). So 1907 | T | | M| 1910 00545_ [ T || M ]oos7 0515§__ [TV
basically 14 1906 LAY ke i 1909 00S3:.. A ]| M]oose osta, i lalfm]
S’[eps fl‘om the 1905 L .1 E rﬁ 1908 0052?__.“: L i 0055 0513?"_ , L L
top. (1917 1904 | E]: (I N | 1907 0051 E—E. | E || N Joosa 0512 i E N
. 1903 E B D]: 1906 oosol BJ: i]|S]|D Joos3 os11fB|: (]S]|D

;14903), Th_erhS IS L LE] M E 1905 o049l EJJC I LJ|MJoos2 ostol EJJCl]L E
steps-_ € Al o] R oosslBl| | R | [4] Eow osoo| £ | [ E o)
numberg in red = E 1= el R
on the 'Slde. show nimimia mizialm EEE
how this will alimimia miolalm = =
oceur ola|aln AEEE  -EEEE
5 B B © S 8 8 8 g 8 B 2

& 2 S @ 5 % 5 2 5§ 3 2 3
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SPACE PROGRAM

Jennifer
The first letter is ‘S’ because that rocket starts at 1903, and we have to find the letter that will be in the top square at the same time as the drone (1917).  So basically 14 steps from the top. (1917 -1903), The S is 14 steps.  The numbers in red on the side show how this will occur.  


Yappy Anniversary
Puzz/ed Pint!

This month marks Puzzled Pint's anniversary and to celebrate it, we've given

you 9 puzzles to solve. You've already solved four main set puzzles and the

metapuzzle. Where are the other four puzzles? They're hidden in the four
main set puzzles. Go back and examine them closely.

Puzzled Pint started in __Portland (8) and was built on the

goal of being a beginnerfriendly puzzling event that takes

place in a __PUB (3). Puzzled Pint has been running for

NINE YEARS (4,5) and there were __5 Founders (1, 8).

PORTLAND OREGON is from the Message from Orbit - number around logo

which uses same mechanism as the puzzle.

PUB is from Hidden Figures - lower left hand corner binary which tranlates to
numbers which are the letters from the puzzle.

NINE YEARS is from UNMANNED - on the rocket, +/- numbers next to letters

5 FOUNDERS is from Small Steps. It's the moon crater letters with the extra
circle.
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™Y Identify pairs of planets
%P“ZZIQd from given clues. then

- draw semaphore lines
'.RJP"“ (pivot at center star) to

July 209 - NINE YEARS! make letters.

“Hunt” for

Your butt (URANUS), and a candy bar (MARS) - SHOWN ABOVE
In Roman mythology, the god of the sea (NEPTUNE) and the husband of Juno
(JUPITER)

The one with the most prominent rings (SATURN) and the one with that Great Red
Spot (JUPITER)

The two planets that start with the same letter (MERCURY & MARS)

The biggest planet (JUPITER) in our Solar System, and the hottest planet (VENUS)
Space probe Cassini’s target (SATURN) and space robot Curiosity’s destination
(MARS)

The two planets on either side of the asteroid belt (JUPITER & MARS)

Fifth from the Sun (JUPITER), and second from the Sun (VENUS)

Our home planet (EARTH) has only sent one space probe—Voyager 2 —to visit this
distant “sideways planet” (URANUS)

L D 2 B D D O o

ANSWER: “SCAVENGER”



